Study Question 4
In the Cellophane case, DuPont argued that they did not have a monopoly because there were many good substitutes for cellophane such as butcher paper, aluminum foil, and other plastic wraps.  They defined a market for the sale of flexible wrapping materials in which they had a market share of less than 20%.

As evidence of such substitution, they noted that:

a.  the prices of cellophane and other flexible wrapping materials were highly correlated;

b.  when the price of the other products changed, there were significant changes in cellophane sales.  
Does this “evidence” support DuPont’s argument?  
